
117-Safari Mirror 

117-Safari Mirror 
117-Safari Mirror mounts to Olympic 4x4’s 131-Safari Door, or you can mount them to the stock 
door hinge when you have your factory doors removed. Olympic 4x4 Products are serviced by 
our factory.  We provide answers to installation questions.  We ship parts ASAP.  Try us before 

the hassle of returning Olympic 4x4 Products to your retailer or mail order specialist.  
For assistance please call (800) 777-0878. 

 
Hardware list:     Parts list:      
4 3/8” lock washer    2  Safari mirror 
2 3/8” jam nut (short nut)   2 Safari mirror mounting arm 
2 3/8” nut 
 
Step 1. Locate the safari mirror-mounting hole in your safari door, on the doors upper mounting bracket. 

Note that is a cylinder shape and has a hole through the center.  Install safari mirror onto the 
safari mirror-mounting arm by removing the bolt that is on the backside of the mirror and then 
attach the mirror to the mounting arm using the bolt you just removed. 

 
Step 2. Install one of the 3/8” jam nuts and then a lock washer onto the threaded shaft of the safari 

mirror. 
 
Step 3.  Insert the threaded shaft of the safari mirror through the mirror-mounting bracket that is on your 

safari door.  If installing without safari doors, install the threaded shaft of the safari mirror 
through the stock door hinge. 

 
Step 4. Secure safari mirror to safari door, by installing a lock washer and then 3/8” nut onto the 

threaded portion of your safari mirror that extends through the safari mirror-mounting hole.  
Photo on the bottom shows how the mirror should be assembled. 

 
Step 5. Repeat steps1-4 for opposite side of vehicle. 
 
Step 6.  Adjust mirrors so you can see out of them. 
 

 


